There are two types of divergence I want the auto trade robot and alert system to identify:
Type 1: See image attached “Type 1 Divergence”
1. Long position: When cumulative delta makes lower low (point B) as compared to the previous lowest low swing (point A) while price makes a higher low (point B) as compared to the previous lowest low swing (point A). The slope of the divergence must be 25 degree or higher. (The degree of the slope needs to be variable and able to change it). 
2. Short position: When the cumulative delta makes higher high (point B) as compared to the previous highest high swing (point A) while price makes a lower high (point B) as compared to the previous highest high swing (point A).  The slope of the divergence must be 25 degree or higher.  (The degree of the slope needs to be variable and able to change it). 
Type 2: See image attached "Type 2 Divergence - Long" and “Type 2 Divergence - Short"
1. Long position: When cumulative delta makes higher low (point B) as compared to the previous lowest low swing (point A) while price makes a lower low (point B) as compared to the previous lowest low swing (point A). The slope of the divergence must be 25 degree or higher. (The degree of the slope needs to be variable and able to change it). 
2. Short position: When cumulative delta makes lower higher (point B) as compared to the previous highest high swing (point A) while price makes a higher high (point B) as compared to the previous highest high swing (point A). The slope of the divergence must be 25 degree or higher. (The degree of the slope needs to be variable and able to change it). 
Note: I need to have the option and flexibility to switch between Type 1 and Type 2, like enabling them both at the same time, or turning off one type while running the other. This will help in back-testing to determine the success rate for each type.
Trading Rules: 
Type 1: See image “Type 1 Divergence”
Long Position: 
1.Once spotted the divergence explained above and point A and B is identified on the price chart, where point B will be a red/bearish candle, the next candle after point B must close as white/bullish within the range of point B red candle (range is from Low to High). Enter long with market order as soon as this white /bullish candle closes. This is Method 1.
Method 2: The same as above applies with the only difference is that the white/bullish candle does not have to close within the range of point B red candle. I need to have the option to select between these two methods while back-testing to determine the success rate.

2. Set hard stop loss market order at the previous lowest low swing at point A. This is Method 1.
 Method 2: Set hard stop loss market order at the higher low swing at point B. I need to have the option to select between these two methods while back-testing to determine the success rate.

3. Position size is based on 1% risk of equity balance. For example, 1% of 10,000 is $100, and if the difference between the entry price and stop loss is 0.50 cents, then position size would be $100 divided by 0.50 = 200 shares. Position size = $100 / (entry price – stop loss price)

4.Position size (Futures) is also based on 1% risk of equity balance. For example, 1% of 10,000 is $100.
Step 1. Calculate the Stop Loss Tick = (Entry Price - Outcome of no. 2 above) / Tick Move per contract (see reference below)
Step 2. Calculate Tick $ = Future contract tick $ (see reference below) X Outcome Step 1
Step 3. Calculate Position size = Equity Risk $100 / Tick $ Step 2

4. Once trade goes to 1:1 risk to reward, move stop loss to breakeven (entry price).

Short Position:
1.Once spotted the divergence explained above and point A and B is identified on the price chart, where point B will be a white/bullish candle, the next candle after point B must close as red/bearish within the range of point B white/bullish candle (range is from Low to High). Enter short with market order as soon as this red/bearish candle closes. This is Method 1.
Method 2: The same as above applies with the only difference is that the red/bearish candle does not have to close within the range of point B white/bullish candle. I need to have the option to select between these two methods while back-testing to determine the success rate.

2. Set hard stop loss market order at the previous highest high swing at point A. This is Method 1.
 Method 2: Set hard stop loss market order at the lower high swing at point B. I need to have the option to select between these two methods while back-testing to determine the success rate.

3. Position size is based on 1% risk of equity balance. For example, 1% of 10,000 is $100, and if the difference between the entry price and stop loss is 0.50 cents, then position size would be $100 divided by 0.50 = 200 shares. Position size = $100 / (stop loss price - entry price)

4.Position size (Futures) is also based on 1% risk of equity balance. For example, 1% of 10,000 is $100.
Step 1. Calculate the Stop Loss Tick = (Outcome of no. 2 above – Entry price) / Tick Move per contract (see reference below)
Step 2. Calculate Tick $ = Future contract tick $ (see reference below) X Outcome Step 1
Step 3. Calculate Position size = Equity Risk $100 / Tick $ Step 2

4. Once trade goes to 1:1 risk to reward, move stop loss to breakeven (entry price).

Type 2: 
Long Position: See image "Type 2 Divergence - Long"
1.Once spotted the divergence explained above and point A and B is identified on the price chart, where point B will be a red/bearish candle, the next candle after point B must close as white/bullish within the range of point B red candle (range is from Low to High). Enter long with market order as soon as this white /bullish candle closes. This is Method 1.
Method 2: The same as above applies with the only difference is that the white/bullish candle does not have to close within the range of point B red candle. I need to have the option to select between these two methods while back-testing to determine the success rate.

2. Set hard stop loss market order at a price level equal to = point B lower wick price - (point A lower wick price – point B lower wick price)

3. Position size is based on 1% risk of equity balance. For example, 1% of 10,000 is $100, and if the difference between the entry price and stop loss is 0.50 cents, then position size would be $100 divided by 0.50 = 200 shares. Position size = $100 / (entry price – stop loss price)

4.Position size (Futures) is also based on 1% risk of equity balance. For example, 1% of 10,000 is $100.
Step 1. Calculate the Stop Loss Tick = (Entry Price - Outcome of no. 2 above) / Tick Move per contract (see reference below)
Step 2. Calculate Tick $ = Future contract tick $ (see reference below) X Outcome Step 1
Step 3. Calculate Position size = Equity Risk $100 / Tick $ Step 2

4. Once trade goes to 1:1 risk to reward, move stop loss to breakeven (entry price).

Short Position: See image "Type 2 Divergence - Short"
1.Once spotted the divergence explained above and point A and B is identified on the price chart, where point B will be a white/bullish candle, the next candle after point B must close as red/bearish within the range of point B white/bullish candle (range is from Low to High). Enter short with market order as soon as this red/bearish candle closes. This is Method 1.
Method 2: The same as above applies with the only difference is that the red/bearish candle does not have to close within the range of point B white/bullish candle. I need to have the option to select between these two methods while back-testing to determine the success rate.

2.Set hard stop loss market order at a price level equal to = point B higher wick price + (point B higher wick price – point A higher wick price)

3. Position size (Stock) is based on 1% risk of equity balance. For example, 1% of 10,000 is $100, and if the difference between the entry price and stop loss is 0.50 cents, then position size would be $100 divided by 0.50 = 200 shares. Position size = $100 / (stop loss price - entry price)

4.Position size (Futures) is also based on 1% risk of equity balance. For example, 1% of 10,000 is $100.
Step 1. Calculate the Stop Loss Tick = (Outcome of no. 2 above – Entry price) / Tick Move per contract ((see reference below)
Step 2. Calculate Tick $ = Future contract tick $ (see reference below) X Outcome Step 1
Step 3. Calculate Position size = Equity Risk $100 / Tick $ Step 2

5. Once trade goes to 1:1 risk to reward, move stop loss to breakeven (entry price).

	Future Name
	Future Symbol
	Exchange
	Tick
	Tick $

	E-MINI S&P 500 FUTURES
	ES
	CME
	0.25
	12.5

	MICRO S&P 500 FUTURES
	MES
	CME
	0.25
	1.25

	E-MINI NASDAQ 100 FUTURES
	NQ
	CME
	0.25
	10

	MICRO NASDAQ 100 FUTURES
	MNQ
	CME
	0.25
	0.5

	E-MINI RUSSELL 2000
	RTY
	CME
	0.10
	5

	MICRO RUSSELL 2000
	M2K
	CME
	0.10
	0.5

	E-MINI DOW JONES INDEX
	YM
	CBOT
	1
	5

	MICRO E-MINI DOW JONES INDEX
	MYM
	CBOT
	1
	0.5

	CORN FUTURES
	ZC
	CBOT
	0.0025
	12.5

	SOYBEAN FUTURES
	ZS
	CBOT
	0.0025
	12.5

	COMEX 100 GOLD FUTURES
	GC
	COMEX
	0.10
	10

	E-MINI GOLD FUTURES
	QO
	COMEX
	0.25
	12.5

	CRUDE OIL FUTURES
	CL
	NYMEX
	0.01
	10

	E-Mini Crude Oil WTI
	QM
	NYMEX
	0.025
	12.5

	MICRO CRUDE OIL FUTURES
	MCL
	NYMEX
	0.01
	1

	NATURAL GAS HENRY HUB FUTURES
	NG
	NYMEX
	0.001
	10

	E-MINI NATURAL GAS FUTURES
	QG
	NYMEX
	0.005
	12.5




Profit Taking Methods for Type 1 and Type 2:
Method 1:
1. Set profit limit order 15% of the position at 1:2 risk to reward. If trade actually reaches 2:1 and profit limit order is executed, then update stop loss order pre-set at breakeven (entry price) with the remaining position size.
2. Set profit limit order 50% of the position at 1:3 risk to reward. If trade actually reaches 1:3 and profit limit is executed, then move stop loss to 1:1 risk to reward with market order with the remaining position size.
3. Set profit limit order 20% of the position at 1:4 risk to reward. If trade actually reaches 1:4 and profit limit is executed, then move stop loss to 1:3 risk to reward with market order with the remaining position size.
4. Set profit limit order 15% of the last piece of the position at 1:5 risk to reward. If order is executed, then there should not be remaining position.

Method 2:
a. Once trade goes to 1:2 risk to reward, move stop loss to 1:1 with a market order.
b. Once trade goes to 1:3 risk to reward, move stop loss to 1:2 with a market order.
c. Once trade goes to 1:4 risk to reward, move stop loss to 1:3 with a market order.
d. Once trade goes to 1:5 risk to reward, move stop loss to 1:4 with a market order.
e. Keep doing the same for every 1:1 move until stop loss is triggered with a market order.

Note: If stop loss is executed at any price level, all other open orders on the same symbol must be canceled
General Rules:
1. The auto robot must be able to detect the Account balance $ that will be constantly changing as a result of the outcome of each trades that have been closed. The account balance will be the basis of which the position size for each trade will be calculated. Disregard the effect of open trades with unrealized gain or losses on the account balance, only the closed trades.
2. Risk % of account balance which is the basis of calculating the position size, as a % of the above account balance, needs to be variable. Like I can change it to any number I want.
2. Trading only in main Session time from 9:35 AM to 3:55 PM EST (New York Time). Need be variable to change the time as I want.
3. Profit targets need to be variables. Have a flexibility to change % of profit target and risk to reward. 
4. Max loss is 5% of the account balance. This need to be variable as well. No trading after reaching that limit.
5. The robot cannot enter into a new trade in the same symbol if there is an open trade executed. but can execute other trades in other symbols. But for the alert system, it can plot and send notification for the divergence condition for the same symbol as many as the conditions met.
6. The auto robot and alert system must be able to plot the divergence with a trend line between the price and cumulative delta. (Point A and B)
7. Have the option to turn off the auto trade option, and keep the alert system. This is in case I need to trade manually but want the help of the robot in identifying and notifying for divergence opportunities based on the rules without executing a trade. 

Notification Rules:
Auto Trade Robot:
1. Send a notification to an email and/or Discord or telegram (open to discuss method of communication) for every trade entered and closed. The notification must include Symbol, Type 1 or Type 2 Divergence, Long or Short, Trade Open or Close, Time of the Trade, Traded Price, Closed Price, along with a screenshot from the price graph and cumulative delta with the executed trade and divergence plotting/drawing (open to discuss if this is not feasible).

Alert System:
1. Send a notification to an email and/or Discord or telegram (open to discuss method of communication) for every divergence identified. The notification must include Symbol, Type 1 or Type 2 Divergence, Long or Short, Time of the Divergence, along with a screenshot from the price graph and cumulative delta with the divergence plotting/drawing (open to discuss if this is not feasible).
